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Abstract
Application of differential equations in spherical space has been approved in this paper.

Regarding the importance of differential equations in mathematical mechanics , a reasonable relation is felt to be
presented in order to design and optimize dynamic systems( dynamic mechanics) and all relevant subsets.

This paper tries to establish the relation in question in the simplest possible state.
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Introduction

In dynamic mechanics , the issue of movement relevant to a moving object is discussed and proved , and the dynamic
mechanics subset is based on differential equations.

Applications

Regarding the method presented in mathematical , mechanics it can be used to apply differential equations in aerospace
science , CNC machine , space ships central control , radars , etc.

Conclusion
In the presented method, it can be concluded that any kind of 1st order differential equations can be applied.
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tan a = tan B. tan y is relevant to differential equations images on 3 coordinates OXY, OXZ and OYZ.
N.B.: Extra details have been avoided. The trend of the formulas proof is descriptive enough.
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2xy 1
1- '+ =
6y 1+x2  14x?

2 _ Ly = VP +V%,0 <V < 300,000
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17 y+xey=1 wa/Vx +x%y = 13V =V2%+V%,0 <V < 300,000

1-8 y' + 4y (tan2x) = tanx ,;>Vy/Vx + 4y (tan®x) = tan’x 2V =V +V?%,0 <V < 300,000

1-9 xy' (logp, X) = x logp, (x—Y) f:>x:j—; (logy \)=x Iogn(x-y) 2V =4/V%,+ V3,0 <V < 300,000

1-10 y' = (-Cos X)y+6 Cosx=" Y/}, = (~Cos x)y + 6 Cos*x=>
V =yV%+V?%,0 <V < 300,000

1-11 y(zxey3+3)dx+x(x2y3-1)dy=0 = y(zx2y3+3)2—’; + x(x*y* — 1) Z—’t’ =0 2y(zx*y® + 3)Vx + x(x*y* — 1)
Vy =02V =V? + V3,0 <V < 300,000

1-12 (y2+yx)dx+(-3xy)dy=0 S(y+yxdo + (° — 3xy) L = 0 2 (5 + yx®)Vx + (2 = 3xy)Vy = 0 2V = VA + V3,0 <
V < 300,000

1-13 Y(2-3xy)dx-xdy=0 = y(2-3xy)2—f —-X Z—};=O 2y(2-3xy)VX-xVy=0 V= /V?, + V?y, 0 <V< 300,000
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1-14 (4xy+3y*)dx+(2x2+5xy?)dy=0=> (4xy+3y4)i—f + (2x* + 5xy°) % = 0= (4xy + 3yHVx+(2+5xy)Vy=0V= \/VZ, + V%, 0
<V<300,000

1-15 Y(Ay-1)dxx(y?-1)dy=0=y(xHy-1) 5 + x(xy* = 1) 2 = 02y(x4y-1) Vierx(xy*1)Vy=0 V= V2, + V2, 0 <V< 300,000

1-16 (y2+2xy+y)dx-(2xy+x2-x)dy=0= (y2+2xy+y)z—f —(xy+x*—x) Z—Jt/ =020+ 2xy+y)Vx— Qxy+x*—x)Vy =02V =
V2, + V2,0 <V < 300,000

1-17 (2xey+y?d)dx+(2x3-xy)dy=0 (2x2y+y2)‘;—’t‘+(2x3-xy)2—¥=0:> (2x3y+y2)Vx+(2x3-xy)Vy= 0 =

V=/V?, + VZ, 0 <V< 300,000

1-18 y(4x+3y?2)dx+x(2x+4y2)dy=0 I:>y(4x+3y2)‘;—’:+x(2x+4y2)‘;—¥=0E>y(4x+3y2)Vx+x(2x+4y2)Vy =0 V=V, +V?, 0 <V<
300,000

_ dy _ -
1-19 Z_Z _ yltanx+log,y) " /ar _ —y(tan x +log,y) ,Vy _ —y(tan x+log,y) 2V =/V%,+V?%,0 <V < 300,000

tan x dx/dt tan x Vx tan x

dy
dy (zy +3xy?) /dt zy +3xy? Vy _ 2y+3xy? 2 2
- = = =3 = — o2 = 2 = V +V V<
1-20 dx 3x + 4yx? dx/dt 3x +4yx?  Vx  3x+4yx? E »0 <V = 300,000

2-1Y .dx+X.dy+2.Z.dz=0>

d
v/ 4 X Y/ +2.2.92/, =0
Y . Vx+ X.Vy+2.Z2.Vz=0

Vi =4V2x + V2y + V?z
0 <V1<300,000 Km/Sec
2-1 Z.(z+y)dx+z.(z+x)dy-2.X.dz=0
d
Z.@+ )+ Z 2+x) Y g -2.%. 9%/ =0

Z(z+y) VXx+Z .(z+x) . Vy-2.X.Vz=0

Vi =4/V2x + Vy + V?z

0 <V <300,000 Knm/Sec

2-2 Y .Z.dx+2X.Z.dy-3.X.Y.dz=0

d dy dz) -
Y.Z.8%) g +2.X .27/ ) -3 XY 42),. =0
Y.Z Vx+2X.Z.Vy-3.X.Y .Vz=0

V1=V + V2y + V?z

0 <V1<300,000 Km/Sec

2-3 2XZ. dx+Z.dy-dz=0

d dy dz/ -
2XZ9X[ 4 +2Z. /dt -42/,,=0
2XZNx+Z.Vy-Vz=0

V=V + V3y + V?z

0 < V7 < 300,000 Km/Sec

2-4  (Y*+X.Z). dx+(X?+Y.Z). dy + 3.Z%.dz =0

d
(Y24X.2). 9%/ +(X2+Y. )P/ 432242/ | =0
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(YHX.Z).Vx+ (X+Y.Z). Vy +3.22 . Vz=0

Vi =V + V2y + V?z

0 <V7<300,000 Knm/Sec

2-5  (X2.Z-Y3).dx +3.X.YZ dy +X3dz =0
d

(X2.Z-Y3) 4%/ +3 X Y2 D/ +x3d2] | =0

(X2Z-Y3).Vx+ 3 XYL Vy+ X3 Vz=0

V1=V + V2y + V?z

0 <V7<300,000 Km/Sec

2-6  aly’z% dx + bAZ2x% dy+ c2xtyhdz =0

d
az.yz.zz.dx/dt +h2.22.%2% y/dt + 22y dz/dt =0
aty?. 22 Vx+ b222x% Vy + 2 x%y?. Vz =0

Vi =/Vx + Vy + V?z

0 <V1<300,000 Km/Sec

2-7  X(y*-a%). dx+Y (x> z%).dy—z(y* —a%).dz= 0
X(2-a). /g + Y002, P gy -2l ) /g = 0
X(y*-a®).Vx+ Y(x*- 2%). Vy - z(y* -a%).Vz = 0

V1=V + V2y + V?z

0 <V1<300,000 Km/Sec

2-8 Y.Z(y+2z).dx+XZ (x+2z).dy+XY(x+y).dz=0
Y2y +2). 9%/, +XZ (x+2). D)y + XY(c+y). 42/, =0
Y.Z(y+2). Vx+ X.Z. (X +2). Vy + X.Y(Xx +y). Vz=0

Vi =4V + V?y 4+ V?z

0 <V1<300,000 Knv/Sec

2-9 Z(z+VY). dx+Z(z +x3).dy - X.Y.(x +y).dz=0
2@ +y). gy + 22+ X0 gy - XY x4 8y = 0
Z(z +y2). Vx+ Z(z + X*).Vy - X.Y.(x +Y). V2= 0
0 <V1<300,000 Km/Sec
2-10 (y+2z).dx+ (z+x).dy+ (x+y).dz=0
d
(v +2). B gyt(zex). Vg +x+). 47/, = 0
(Y+2). Vx+ (z+X). Vy+(x+y).Vz=0
V=V + V3y + V?z

0 < V7 < 300,000 Km/Sec
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2-11 Z.Y(a- x).dx +[z-y? + (a-x)?].dy —Y.dz =0
ZY(@-x). 9%/, +zy? +@-x. D/ - ¥, 42/, =0
Z.Y(ax). VX +[z-y* + (a— X)*].Vy - Y.Vz =0

Vi =V + V2y + V?z

0 <V1<300,000 Km/Sec

2-12 Y.(1+72). dx + X.(1+Z%).dy+(x?+y?).dz =0

d
Y. +2). D)+ X1 +2D). D g+ (E+yA).47 =0
Y.(1 + 22).Vx+ X.(1 + Z2). Vy +(x% + y?).Vz=0

Vi =V + V2y + V?z

0 <V7<300,000 Knm/Sec

2-13 (y2+y.z+7%). dx +(Z + zx + X0).dy + (X + xy +y?).dz=0

d
W2 +yz+2). B/ + @ +zx+x0). /g + (C+xy +yP). 4%/ 4, =0
(2 +yz+22)Vx+ (@ +zx+x)Vy+ (C+xy+y).Vz=0

Vi =4/V2x + V2y + V?z

0 < V1 <300,000 Knv/Sec

2-14 Y.Z.dx+ X.Z.dy+ X.Y.dz=0

d dy dz) -
Y.Z0X) )+ XZ V] g+ X Y92/ =0
Y.Z. Vx+ X.Z. Vy + X.Y.Vz=0

V=4V + V2y + V%2

0 <V1<300,000 Km/Sec

2-15 (1+y+2z). dx+X.(z- x).dy -(1+ x.y ).dz=0
(Wry+2) 85/ +X.@20. ) 4, -Axy). 42/, =0
(A+y+2).Vx + X.(z - X)..Vy — (1+ x.y).Vz =0

Vr=4/Vix + V2y 4+ V?z

0 <V1<300,000 Knv/Sec

2-16 Y.(X +4).(y +2).dx—X.(y +3.2).dy+2.X.Y.dz=0
Y.+ Ay +2).9%/ - Xy +32). D/, +2x Y42/, =0
Y.(x+4).(y +2). Vx- X.(y +3.2). Vy+2.X.Y.Vz=0

VT =4 sz + sz + VZZ

0 <V1<300,000 Km/Sec

2-17 Y.Z.dx+(x? -y- z.X).dy+(x%.z-x.y).dz = 0
d
Y.Z dx/dt + (X2 - y-2.X). y/dt + (X2z- x.y).dZ/dt =0

Y.Z.Vx + (X% - y- 2X).Vy +(x*.z- x.y ).Vz=0
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V1=V + V3y + V?z

0 <V7<300,000 Knm/Sec

2-18 2.Y.Z.dx-2.X.Z. dy- (X*—~Y?).(Z-1).dz=0

d
2¥2.9%) - 2XZ. Y/ - (X2 Y).(Z-1).9%/,,=0
2.Y.Z.Vx-2X.Z.Vy -(X*~Y?.(Z-1).Vz=0

Vi =/V2x +V3y + V?z

0 < V1 <300,000 Km/Sec
dx _ dy _ dz
219 yix—2x* " 2y*-x3y ~ 2.z.(x3—y3)
dx dy dz
/dt s /dt _ /dt
yix—2.x* 2.y*—-x3y 2.z.(x3-y3)
Vx Vy Vz

Vx—2xt 2y —x3y 2.z (3 —y3)

Vi=4V2x + Viy +V?z

0 <V1<300,000 Knm/Sec
dx _ dy _ dz
2-20 2xz  2yz  z°—x%-y?
dx dy dz
/dt g /dt ¥ /dt
2.x.z 2.y.z z% —x*—y?
V. Vy Vz
2.x.z 2.y.z z*2 —xt—y?
Vr=Vx + V?y + V22
0 < V1 <300,000 Km/Sec
2:21 dx _dy __ dz
x+y x+y —(x+y+2.z)
dx dy dz
/dt " | /dt [ /dt
x+y x+y —(x+y+2.2)
Vx Vy Vz

x+y=x+y=—(x+y+2.z)

Vi =4V2x + V2y + V?z

0 <V1<300,000 Km/Sec
dx _ dy _ dz
2-22 cy—b.z T az-cx bx-z.y
dx dy dz
/dt _ /dt _ /dt
cy—b.z az—-cx bx-—2zy
Vx Vy Vz

c.y—b.zza.z—c.x_b.x—z.y
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V=4V + Viy + V?z
0 <V1<300,000 Km/Sec
dx dy dz

2-23 = =

x24a%? xy-—-az xz+ay

Vi =4/Vix + Viy + V?z

0 <V1<300,000 Km/Sec

2-24 z.y.dx-zx.dy-y2 dz=0

d
2y ) g~ 2%V gy -2 32y =0
zy.Vx—zXx. Vy-y2Vz=0

Vi =4/V2x +V2y + V?z

0 <V1<300,000 Km/Sec
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2-25 (y2+29).dx +x.y.dy+x.z.dz=0
(y2 +22). dx/dt + X-y-dy/dt + X'Z'dz/dt =0
(y2+2?9). Vx+xyVy+x.z.Vz=0

Vi =V + V2y + V?z

0 <V7<300,000 Km/Sec

2-26 (Y+2Z)dx+dy+dz=0

d
(¥ +2).9%) gy + /gy 48/ 4 =0
(Y+2).Vx+Vy+Vz=0

Vi =/V2x +V2y + V?z

0 <V1<300,000 Km/Sec

2-27 (2.x.y.z +z9).dx + x2.z.dy +(x.z+1).dz =0
(2.xy.z+ Zz)'dx/dt + x2.z.dy/dt +(xz+ 1)'dz/dt =0
(2xy.z+7).Vx+x2zVy+ (xz+1).Vz=0

V1=V + V2y + V?z

0 <V1<300,000 Km/Sec

2-28 z.y2.dx +z.x2dy - x2y2. dz =0
Zyzdx/dt + szd}’/dt » X2y2. dz/dt - 0
Z.Y2VX+zX2. Vy - x?y2. Vz =0

Vi =4V + V?y + V?z

0 <V1<300,000 Knm/Sec

2-29 X.(y? - 22).dx + y3(z? - X?).dy + z.(x? - y?).dz =0
X.(y2 - 22)'dx/dt +y2(z2 - XZ)'dy/dt +2.(x2- yZ).dZ/dt =0
X.(y2 - 22).Vx+y¥(z2-x3).Vy + z.(x2 - y?).Vz =0
Vi =V + V2y + V?z
0 < V7 <300,000 Km/Sec
2-30 (y?2-2z3).dx+(x?2-z3).dy+ (x+y).(x+y+2.z).dz=0
d
(2 - 2.8/ 4 +0¢ - 20). /gy +(+ y).(x 4y +2.2).97/ 1, = 0
(Y?-22). VX +(x2-73). Vy +(x + y).(x +y + 2.2). Vz=0

0 < V< 300,000 Km/Sec

2-31 (y2 +y.z).dx+(x.z + 22).dy + (y>X.y).dz=0

d
(2 +y.2).9%) 4+ (xz+ 2. /4 + (2 xy). 97/ 4, = 0
(Y2 +y.2).Vx + (X.z + 29).Vy + (y? - X.y).Vz=0
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V1=V + V3y + V?z

0 <V7<300,000 Knm/Sec

2-32 2.z.(y +z).dx - 2.x.z.dy — [(y + 2)>-x2-2.x.z]. dz=0
2.2.(y + z).dx/dt - 2.x.z.dy/dt — [y + 2)>x2 -2.x.7]. dz/dt =0
2.2.(y +2).Vx—-2xz. Vy—[(y + 2)>x2-2.x.z2]. Vz=0

Vi =/V2x +V3y + V?z

0 <V1<300,000 Km/Sec

2-33 (X2 + X.y+y.z).dx—X.(X+ z).dy+ x2.dz =0

d
(x2+xy+ y.z).dx/dt —X(X +2). y/dt + xz.dz/dt =0
(+xy+y.z2).VX—X(X+2)Vy+x2Vz=0

V1=V + V3y + V?z

0 <V7<300,000 Km/Sec

2-34 y.z(1+4.x.2).dx+x.z.(1+2.x.z).dy+x.y.dz=0
y.z(1+4.x.z).dx/dt + x.z.(1+2.x.z).dy/dt +X.Y. dz/dt =0
y.2(1+4.X.2) . VX+x.2.(1+2.X.2).Vy+ X.y.Vz = 0

Vi =4V2x + V2y + V?z

0 <V1<300,000 Km/Sec

2-35 (2.x.z+z?).dx + 2.y.z.dy - (2.2 + 2.y?+x.z— 2.8?).dz=0
(2.x.z+22).dx/dt + 2.y.z.dy/dt + (2.2 + 2.y2+xX.2 — z.az).dz/dt =0

(2x.z+22). Vx + 2.y.zVy + (2.X2 + 2.y*+x.2 —2.8%). Vz=0

Vi =4V + V?y 4+ V?z

0 <V1<300,000 Knv/Sec

2-36 (y.dx +x.dy).(a-z)+x.y.dz=0

d
08/ e +x % o) @-2) + xy. 92/ =0
(y.Vx+xVy).(a-z)+xy.Vz=0

VT =4 sz + sz + VZZ

0 <V1<300,000 Km/Sec

2-37 2.X.0x+(2.x2.z+2.y.z +2.y?+1).dy +dz =0

d
2.x.dx/dt +(2.X22 + 2.y.Z +2.y?+1). y/dt + dZ/dt =0
2XVX+ (2X2.2 +2.y.z +2.y>+1).Vy+Vz =0

V=V + V3y + V?z

0 < V< 300,000 Km/Sec
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2-38 2.X.z.(y — 2). dx - z.(x2+2.2).dy + y.(x2 + z.y). dz=0

2.x.2.(y — 2). dx/dt - z.(x2+2.z).dy/dt +y.(2+2.y). dz/dt =0
2.X.2.(y - 2).VX - 2.(x3+2.2). Vy + y.(x2 + 2.y). VZ =0

Vi =V + V2y + V?z

0 <V7<300,000 Knm/Sec

2-39 (12.x +29.y).z.dx — (11.x + 12.y).z.dy — (2.x* + 3.x.y —zy?).dz =0

d
(12.x + 29.y).z. dx/dt —(11.x +12.y).z. y/dt — 22 +3xy—2Y?). dz/dt =0
(12.x +29.y).z.Vx — (11.x + 12.y).2. Vy - X2 + 3xy —z.y?). VZ=0

Vi =/V2x +V3y + V?z
0 < V1 <300,000 Km/Sec
2-40 y.dx—x.dy+dz=0

d
V-8 g =%V o + ¥ g =0
y.Vx-xVy+Vz=0

Vi =4V2x + V2y + V?z

0 < V1 <300,000 Km/Sec
0.4 & _JEAE 7R
y—z Z—X x—=y

d dy d
*ae _ " ar _ ar

y—z z—x z-—Yy
Vx Vy Vz

y—2z z—X XxX-—Y

Vi =V + VZy + V2

0 <V1<300,000 Km/Sec

2-42 dx+dy+dz=0
dx dy dy
aarta ™’

Vx+Vy+ Vz=0

Vr=4/Vix + V?y 4+ V?z

0 <V1<300,000 Knv/Sec

2-43 x.dx+ydy+zdz=0

d
2.8ty e + 2.9/ 4 =0

XVX+y. Vy+2z.Vz=0

VT =4 sz + sz + VZZ

0 <V1<300,000 Km/Sec
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_ dx — dy — dz
2-44 x(y+z)  —y.(xP+z)  (P-yD)z
dx dx dx
fae _ ae  _ “at
x.(y’+2) —-y.(x*+z) (*—-y).z
Vx Vy Vz

x.(y*+ z) - —y.(x* + 2) - (x*—y?).z

Vi =4/Vix + Viy + V?z

0 <V1<300,000 Km/Sec

2-45 dx/dt =Vx = 2.z — 4.x VT:')
d
y/dt=Vy = 2.7 — 2y

dx/dt=VZ =2.x—2y-3z

Vr=yVix + V2 + V22 = /(2.2 — 4x) + (2.2 = 2.7)* + 2.x + 2.y — 3.2)?
0 < V1 <300,000 Km/Sec

2-46 4%/, = (z—2.y)
Vgp ==
dx/dt =x+y—2.72)

Vi={(z = 2.9)° + (z—x)*F (x +y — 2.2)°

Vr=V2x + V2 + V?z

0 <V1<300,000 Km/Sec

2-47 %/ = (2.y - 2)
Y= -

dx/dt =—x)

Vi=J(2.y — 2"+ (v — %)% + (y + 2 =4)?

Vi=4/V2x + V?y + V?z

0 <V1<300,000 Km/Sec

2-48 %/, = (z - 2.x)

Vg =@-»

dx/dt =@B.x+3.y+3.2)

Vi={/(z - 2.x)%+ (z—x)> +{3.x + 3.y + 3.2)?

Vi =4/Vix + Viy + V?z

0 < V7 < 300,000 Km/Sec

3082 | egaP

ISSN 2347-1921

February 3, 2015



ISSN 2347-1921

2-49 (x-.a)2+(y-bpr+z2=1 V=2
2.(x +a).dx +2.(y—b).dy +22dz=0 a=cte
b =cte

d
2.(x+a). 4%/ + 2.0y~ 0).YY/ 1 + 2297/, =0
2.(x+a).Vx+2(y-b)Vy+2z.Vz=0

V=V + V2y + V?z

0 <V71<300,000 Km/Sec

2-50 Z=(x+a).(y+h)=xy+hbx+ay+ab

dz = x.dy + y.dx + b.dx + a.dy + 0 = (x + a).dy + y.dx + b.dx
d

92/ =0 +0). Y [y + (v + 0). 4

Vz=(x + a). Vy + (y +b). VX

- 2 2 2 k
Vi={Vx+Vy+Vz a = cte
0 <V1<300,000 Km/Sec b =cte
2-51 2.z.=(ax + y)?tb V=7
2.z =(a2x% +y?2 + 2.a.x.y)+h i cle

b =cte

2.dz =2.22x.dx + 2.y.dy + 2.a.x.dy + 2.a.y.dx
2.dz=(2.a2x +2.ay).dx + (2.y + 2.a.x).dy

d
2.dZ/dt=(2.a2.x + 2.a.y).dx/dt +(2y +2.aX). y/dt
2.Vz=(2.ax+2ay). Vx+ (2y +2.ax). Vy

Vi =4/V2x + V2y 4+ V22

0 < V1 <300,000 Km/Sec

2-52 ax2+hy2+z22=1 V=2
a=cte
b = cte

2.a.x.dx/dt + 2.b.y.dy/dt + 2.z.dz/dt =0

2.ax.dx +2by.dy+2zdz=0

2.axVx+2byVy+2zVz=0

Vr= \/m

0 <V1<300,000 Knv/Sec

2-53 x2+y2+72=C
2X.dx +2ydy+2.zdz=0 VT:?
2% By + 2'y'dy/ult +22.92/,, =0 C = cte
2XVx+2yVy+2zVz=0

V= \/m

0 <V1<300,000 Km/Sec

2-54 X.(y2+2)-y.(x¢+2z)=(x2-y9)z
X'y2 tXZ- Y-X2 -yz= X2z - yZ.Z VT:?
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2.x.y.dy + y2dx + x.dz + z.dx — 2.y.x.dx - x2.dy- y.dz — z.dy = 2.x.z.dx + x2.dz — 2.y.z.dy - y2.dz
@2xy—xt—z+2y2z)dy+(y2+z-2yx—-2Xx2).dXx+(X-y-x2+y?.dz=0

@xy—-x2—z+ 2.y.z).dy/dt+ (Y2 +z-2yx— 2.x.z).dx/dt+ (Xx—y-x2+ y2).dZ/dt: 0
@XYy—-X2-z+2y.2)Vy+ (Y2 +Z2-2yX-2X2).VX+(X-y-x2+y)Vz=0

V=4V + Viy + V?z

0 <V7<300,000 Knm/Sec

2-55 x2+y2-2z2=C V=2
2.x.dx+2ydy-2dz=0 c=cte
2% B/ 4y + Z'V'dy/dt 2.2/, =0
2XVx+2yVy-2Vz=0
Vi= \/m
0 < V1 <300,000 Km/Sec
2-56 xX2+y2+2xy.z-2z2+2=0
2.x.dx +2.y.dy + 2.y.z.dx + 2.x.y.dz + 2.x.z.dy —2.dz=0
(2x+2y.z).dx+ 2y +2.x.2).dy +(2xy-2).dz=0
(2.x+ 2.y.z).dx/dt+ 2.y + 2.x.z).dy/dt+ (2.x.y - 2)'dz/dt: 0
(2x+2yz2)Vx+ (2y+2x2).Vy+(2xy-2).Vz=0
Vi= \/m
0 < V1 <300,000 Km/Sec

V=7
2-57 2.y.(z-3) + 2x-2z)=y.(2.x. - 3)
2yz-6y+2Xx-2=2yx—-3y
2.y.dz + 2.z.dy -6.dy + 2.dx — dz = 2.y.dx + 2.x.dy — 3dy
(2y—-1).dz + (2.zdy -6-2.x + 3).dy + (2 - 2.y).dx =0
@y-1.92/, + 2z.dy -6-2x+ 3./, + 2-2y).92/ =0
(2y-1).Vz + (2.z.dy -6-2.x + 3).Vy + (2 - 2.y).Vx =0
V= \/m

0 < V1 <300,000 Km/Sec V=2

2-58 2xy-1)+(z—2x%) =2(x-Yyz)

2.x.dy + 2.y.dx + dz — 4.x.dx = 2.dx — 2.y.dz — 2.z.dy
(2x+22z)dy+(2y-4x-2)dx+(1+2y)dz=0

@x+22) Y/ + Qy-4x-2) 9%/, + (1 +2y).92/ =0
(2x+22)Vy+(2y-4x-2)Vx+(1+2y).Vz=0

— 2 2 2
VT—\/VX‘I'Vy‘I'VZ VT:,)

0 <V1<300,000 Km/Sec
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